Gu Length of horizontal rod with several sftays on 1 sash = FB less 335 .
GRETSCH-UNITAS T
Length of horizontal rod with 1 stay = FB/2 + 15 (min. 365)
Length of cover profile with 1 stay = FB/2 less 248 (min. 102) M M Cover profile L = 62
With several stays = 102 107 107 Length of cover profile (not shown) = F less 263 107 107 .8 70 E[ﬁ%i:fh bracket.
8— 1 17 A r1
= e e e - = | B e e ——— —_———————— — = 10
‘§Q77:747777f)7777: 777777 - 7‘9&7L777*777*777*777 | _ _ _ _ 4\/’ _ _ _ _ _ il iif,ifffffjffj 77777 - I N ﬁ
I e T — I\ A n @ mi — ne ne —]
% ' f I \ T T ‘ ; @[ — / [ I T f | n
- % 7 Guide with FB 800-1200 Outer edge of sash— ——10/12/14/16 —T — - ‘ AO?XXSO% o1 o/ L ij
- . . . . | - -
\ .
1) | 12 * * Distance from fitting centre line to outer edge of sash = 12 mm. I ‘\ STUELGSE EEE)U(\[F;E%\HN\TEO%\STBHEE befween A : @
) i i ) y J mm \ ) 11
/1 Check distances for rods and covers with flush mounted sashes. 11/183/15
- $§ \_ —/ -
. ..
= | min. 350 Distance between sfays F with 2 stays = FB - 700
4J /‘ Distance befween sfays F with 3 stays = FB/2 - 350
==|
ISt
o
o) e
5|1t M For stroke 40 M ) Item Description Article No. Contents of boxes
\ 350 distance 10 mm
[ j M ] Stay arm 6-29131-00-0 1 1 1
[ {1 | 7 |Stay arm bearing 6-29134-00-0 1 1 1
[ 1] | - 3 Rod bearing 9-38016-00-0 < |2 <12 2
|1 o ,000 o e o000 Y ) @ o ;o09 @ e 000 . 50 o L [Chain angle 9-38261-00-0 | S [1 ] .S [ -
20OH_H HG 8 H H 6 0 =1 ) o 20OH_H HOG 8 H H Y. 0 =1 , ‘ o = =
] 3 ? i 1 ) 9 T L 5 |Rod clamp with chain 6-29313-00-0 |£5 |1 |85 |1 | =9 | -
aE == s Lg gJ o s Lg gj :]E 6 |Lever handle, stroke 50 6-28681-50-0 | =<7 | 1 | 5% | - | =8 | -
|1 O | il [ 3 0 End) | Qty. 8= < ol
Ch le and 1st st 2nd stay Guide  fo posifion LLO bis 900 - =2 e oS
| | din angte an ST Siady Outer @[1@@ of sash 7 on vertical rod , 9-28893-00-0 %E 3 'EE 1 x 1
O Length of horizontal rod - at equal distance(s) 701 Bis 1500 ! s D o =
o 1501 bis 2100| 2 Z z
[ ] . < &
= 8 |Corner cover 9-34220-00-0 1 1 -
[ ] 2
uter edge of sash o 9 End cap 9-34412-00-0 1 1 -
| ‘ | /—U -
S Flat sash brackef
: : © | | & 10 for 14 25 mm overlap 6-25824-00-0 K-15226-00-0
N Timber and Timber and Aluminium window =] 11 |Cover 9-33900-00-0
Drilling jigs PVC windows with PVC windows with with angular sash = = Anaular sash bracket high
- L A—17 — angular sash bracket flat sash bracket bracket and overlap e =) 12 fopg 1% 25 mm overtaug 6-25772-00-0 K-15225-00-0
. |1 Oriting = £
v 00 rilling jig. . . . B B 5 @ 13 |Cover 9-33346-00-0
g | ‘ | i up fo 16 mm overlap height 6-29410-30 6-294L1 6-29410-35 = =t
_ N ?ﬂ}] — — < n Angular sash bracket low 6-28566-00-0
5 0o o g, et 6-33234-30 6-33235 6-33234-35 o for 14 25 mm overlap K-15224-00-0
18 — b neig 2 15 [Cover 9-37313-00-0
o (. £| Drilling jig, connectable, =) | it
| ‘ 6-29474-01 6-29474-02 6-29474-03 c Angular sash bracket low for fitting groove ~ a1
" | up to 16 mm overlap height g SVO‘%EEBMF;EH e 16 and 16 25 mm overlap 6-28566-01-0 K524 -01-0
= [ ] Drilling jig, connectable, ith chai ] 15 |c 9-37313-00-0
— ; , 6-33236-01 6-33236-02 6-33236-03 with chain dangte over
2 ] ESSQES with from 16 mm overlap height 17 [Rod 88 (xx - size . 9-254L76-xx
. | fowards sash Drilling @& @3 7 @5.2 @3 @3.5 / $5.2 o 18 |Cover profile (*x=Gr. 06.18.33.60) 9-33h k4L -xx
g L —7 9 — : : : Drilling jig 6-33615
o ak o° g Flush aluminium window : Indicate profile system u for sash bracket item 16 Optional parts
— N—Marki
5 |/ o, |* g arking - |Hinged handle stroke 50 K-12608-00-0 |See installation drawing 0-44366-GG-3
El .(“ ]| o ég - |Lever handle stroke 40 6-28681-40-0 |Opening width 165 mm
T | = z| |3 Ji Guide 9-28893-00-0
B Ii ‘ﬁ = >3
0 Packing for sash bracket
T 3 [ 19 | 9-33105-00-0
w ( N h PVC window
: : c Qo = Secti A-A ] timb ind Section A-A L] PVC window Attachlng the flttlngs 20 Packing for Beschlagnut 9-34508-00-0
v E ections - imper window bei Holzfenster - TVVT
|1 2 = ( 50 _‘_,_| |_| |_ Oetermine assembly dimensions. Fasten lever handle (item 6), 21 | Cover profile L = 62 mm 9-33444-01-0
| © § @3 S . v v chain angle (item 4), stay arm bearing (item 2), guides (item 7) P —
= zl @ ( ) and end cap (item 9) with screws. Screws required for basic box: Order references:
: ‘ : E < @:230’“} - Mark M on stay arm bearing (ifem 2) = centre of sash bracket (itfems 10-16) Timber window Number of stay arms
EN Il Kl i X Ner—= ‘ Slide stay (item 1) and two rod bearings (item 3) onto 16 countersunk wood screws 5x30, DIN 7997 %g@%&gsziihwﬂﬁ;h ---éFB
=l = ml horizontal rod (ifem 17). Inserf the lof into stay arm bearing (item 2) PVC windows ‘
N ¢l = “!! <tL|HH C S f* and let snap in rod bearings (item 3). 1 countereunk sheet mefal L8 DIN 7987 Sash height ............. FH
FR BN o izt LI, ” 2 cylinger screws M5 ISO 7048 cachos s
o o =~ Open lever handle (item 6) and sftay arm (ifem 1) unfil end position. ‘ ! SASMES vvvennns
]I = e L w@ w@ g°' . k\(\ N 7 %ﬁ N Rod clamp with chain (item 5) must be flush with chain angle (ifem 4) Lengfh depending on profile system Fgom T?Dfdge hOf[iaSh gOEDOJTom
‘ T [ {1 g ~ —— \ L \:(] P//| — 1‘1 | on the oufside. Insert vertical rod (item 17) befween lever handle (item 6) Aluminium window E‘Efaﬂo[e E\é%%?ﬂ STeay-s- -E(na) .
BN 2 ']1:\ | [ — and chain angle (item &4). Fix rods with 3mm Allen Key, torque A—é‘ Nm.v 14 countersunk sheet metal screws 4.8 DIN 7982 Dims
1 19 D L In the case of several stays ensure fhat they move in the same direction. 2 cylinder screws MS5x8 1SO 7048 Profil i
SK 1 — 0 Fasten sash bracket (ifem 10-16). Engage bolt info stay (item 1). [Bfo‘uf system
! Ensure fhat it snaps in correctly.
| \ | . The specified fastening screwS are a recommendatfion based on our experience.
0 E = B 15 Adjust gaskef pressure on closed sash by fhe sef screw on ffe sash brackef The responsibility for the appropriafe fastening of hardware components lies
N », 14 using a 3mm Allen key. Verify the correct functioning of fhe fitfings. with the window fabricator.
U ™/ @GF@BS@ all joints and friction areas with non-acid grease S i ‘ Stroke of
: , ace required |Dist bet , ,
: | : ~ Clip on cover profiles. Mount rebate stays for additional safety. Sash height FH | P i T%D Si[‘jz aaﬂﬂ[de m% W[Eﬁﬂe thavﬂed[e Opening widfh —
[ 1] Deuemmg on The Darf\'[vutar Sﬁuaﬂom and fto comply with EN 1027 250 - 299 20 12 L0 165
| (profection against driving rain), 2 stays may be mounfed already from
\ FB=1000 and 3 stays from FB=1500. Proceed likewise for sash heights Standard , 20 12
: : over 600 mm and glazings over 20 kg/m2. aﬂfpaofm SV(%S‘OH with angular sash bracket 50 200
. q ) 2 mm less possible L]
\ J
| | T \\ _J
| @ —N____ N e ) N Bzup to 3600
[ | ;\ﬂ Maintenance 1001200 FB Left 1 FB centre 75 FB right
LJlr - See product information related to fanlight fittings in the G.U order [aTaLogue) - Mf P MJ/ W/LMJ/ W/LM 1
1N —t | L]
=
| | 1] & © s p ]
3 The product guidelines of fthe profile manufacturers regarding consfruction, Zo
2 | ' assembly, max. sash dimensions, max. sash weights and material qualities .g@
= | \ | @ (e.g. longitudinal expansion) are to be observed. =£
: | L J 3
g [ ] . .. . a3
g i " & Section A-A [ aluminium window p — J | <cheme 1 <theme n
o | Range of application
c |1 = | —6 For vertically installed windows only \ o B=up to 2400
E: ||| | 20 17 - - 75 FB left 7 FB right FB=up to 3600
p 1 I ( l ] ) 22 ' N VRN I R M1 M2 M3
5 1 [ y %é : \NEE 12 7 /2 350 1/2 1/2 350
E ] i . 28 b N \\< Max sash weight
5 I | 30 N \ = 80 kg
& [ 1] | , NS N N
B 32 Example: N
R ' JM 1 D 34 with FB 2200 and N \\ \\ Max glass weight
@{‘D o~ N I — _ ] T 36  glazing 2x8, a Dim S N \\\ = 40 kg/m?
%%% Al - - 38 of 20 up to 57 N
© N / _ DDD % — 40 is possible \X . Scheme 2n 0 Scheme 3n
h%} / \% ( ) h > — i— S it : < - FB=up fo 2400 2 To 200
T @ f _ Eys Zé A 2 FB left FB right
(1l 5 = ! 48 v g 350 M . 350 M M2 M3 M
L~ = " A o
=t ) e 3 mmr e
<a===JC g Eﬁ‘( O N . anaan
L7 = - — { — o 13 56 1 - e /‘
— —l_ _] / b .
A o - J — 2% // // L/ ///
- T -1 VA /1
l ﬁ\ 7 12 gz A Ny L/C 5//’ LV Scheme 2n Scheme 4n
[ \ —T1 || 66 h Q! \ | I
| B e — P % TS
y [ . R ) W Q/ %/ \/ P o
70 S g 4 Description
|| || E 77 \E) 4 / (\/ r\)/ ~// .
0 11 = 74 / A Flatform fan-light opener Ventus F200
i A1 / 1Y various transmission types
’ 80
‘ @// Flat sash bracket S g 2 92888 38 g8 8 g8 8 Release No Level |Released Scale. | Modificotion Size
. L 2 3 & 8 & % 88 8 3 S -- '
fﬁ as an option for S F 22 g Y J LTI REA - ver. |- B o |4 1
§ timber and PVC windows Scheme 1 _ | Scheme 2n . Scheme 3n 4 m 628278 Draft |19.04.06 Sd Drawing No. Sheet
; ~ J \ >ash width FB ) Replacement for -- 0'43700'GG'0'EN 1/7




GU

GRETSCH-UNITAS

N

X

T

SK

1454

Proprietary rights apply in accordance with 1SO 16016.

20120118

Rod transmision ¢ 8 for T+ U up to 100 mm max.

"~
— ] Upper edge of sash
Jf 7%
~ \f | 2
I ‘ 7 .
| / gl o
el 4 .
o) I I/ o
e <
1 DieneJ =
5x30 o
=
E
5
E
£
an
o
T+0 max. 100
T U
\
|
| o —a
3 /]
2 piece H
6x30 \5
¥7
Dimension ‘
U0 [T+0| 0-B min.
LN 30 210
é 60 260
E {100 330 S
E
0
!
Lateral space reqguirement I
on the frame min. 20mm
O
3 N
o
)
\
!
2 {
|
|
|
\

3 piece

6x50

Item | Description Article No. Qty. contained in box
1 |Screw-on plate 9-33787-00-0 N L
2 |Countersunk screw M5x6 9-13255-06-0 |« 8 2oy ngg%g
3 |Countersunk screw M5x8 9-13255-08-0 | BEE A =N
L |Guide 9-33711-00-0 | BE G [2 ]

5 |Screw-on plate 9-33788-00-0 = 1

L= 600 9-25476-06-0

6 Rod @8 L=1850 9-25476-18-0

Rod fo be cranked on site 1 =3300 9-25476-33-0
L=6000 9-25476-60-0

L= 790 9-33444-06-0

7 |cover profile L=1800 9-33444-18-0
L=3050 9-33444-33-0

L=6000 9-33444-60-0

bell-shaped angle transmission CD 8 for T 150 mm up to T 405 mm

—
d Upper edge of sash
I
= ‘ o
B /9 :
} c
' _ (=
]
o J N1
M 1 piece
; 5x30
o
S
1 g
k= IS
Q (an]
= S
=}
L piece——_]
\
\ P
With T under 325, |
shorfen
T = 150 up fo LOS —8
section A-A -
piece
6x50 <
—~ ol , =
S 2 "
el = 2
E =
o o
[ —~
O -
=_= Y— B
@I= 5| o
= c
- E (=
3| &
/1
Lateral space reqguirement on I
the frame min. 30,5mm 3
With B-E exceeding 900 use guide N o
on screw-on plate K-13737. H»\
O
Upper edge of parapet fo cenfre \ H
of guide min. 300 mm \‘ ‘\
|
b
2
I ol
%U\
\
3 D'e[e%
6x50 .
Item | Description Article No. Qty. contained in box
1 |Screw-on plate 9-33787-00-0 Tk o 8
2 |Countersunk screw M5x6 9-13255-06-0 En: Lg §§%§
3 |Countersunk screw M5x8 9-13255-08-0 |, " So |1 P~ E=x
L |Upper bell-shaped angle 6-23554-00-0 :EEE 1]
5 |Lower bell-shaped angle 6-23555-00-0 5%%& 1]
6 |Rod @8 9-33786-03-0 L= 1]
7 |Guide 9-33711-00-0 5 1
L= 600 9-25476-06-0
L=1850 9-25476-18-0
8 |Rod 28 L=3300 9-25476-33-0
L=6000 9-25476-60-0
L= 790 9-33444-06-0
9 |Cover orofile L=1800 9-33444-18-0
g L=3050 9-33444-33-0
L=6000 9-33444-60-0

Flexible transmision for T up to 730 mm max.

=
| Upper edge of sash
I
— L -
T ©
\ -
o -
— _.IYg s 7
/ o 3 P
, 5 S
1 piece— " |2 y
5x30 ‘ i olay o
8 S O a8
;_‘, gc‘) = A c
7—|L = SE
l : i
= 2z
St E OO
O N
~ |~
1 piece— clc
5x30 ele
(aa]
)
)
o N
LN (O
N c—
— =
EE
[ (&)
ARJSS
|
‘ O
2 piece 6x50 3 =
From T = 250 with guide =
N 4
3 <C
(=
g5 =
2 D\'e[@/ I
6x50 [.EI'.]
2 piece )
6x50 —6
D 2
3/ %
B —9 e
X4 .
| :
alin 7 E
2 D\é[e/ : -
- 6x50 =
(=
= \ -
S 3 |l—a gl =
‘ inlk @
S [——8 -
Lateral space reqguirement on o 3 =
the frame min. 20mm " §
z N °
© Hf o S
5 || 2
= || =
Eﬂ D
5 N
2 ||
|
X
!
3 De[e/
6x50
U
Item | Description Article No. Qty. contained in box
1 |Screw-on plate 9-33787-00-0 T, gl
2 |Counfersunk screw M5x6 9-13255-06-0 Hs3E=P
3 |Counfersunk screw M5x8 9-13255-08-0 |« w2 |5 K
L |Screw-on plate 9-35606-00-0 xg'gg EN
5 |Guide @10 9-35366-00-0 |®Z & |2 |
6 |Guide @8 9-28893-00-0 = 13 ]
7 |Sleeve @8 / M5 6-27402-00-0 2
L= 600 9-25476-06-0
L=1850 9-25476-18-0
8 |Rod 28 L=3300 9-25476-33-0
L=6000 9-25476-60-0
L= 790 9-33444-06-0
9 |Cover orofile L=1800 9-33444-18-0
g L=3050 9-33444-33-0
L=6000 9-33444-60-0
L= 200 6-29495-02-0
L= 400 6-29495-04-0
, . L= 700 6-29495-07-0
10 [Flexible fransmision 21000 629495100
L=1300 6-29495-13-0
L=2000 6-29495-20-0

,E o
T
E
T over 250
with guide
c —
= - .
T
[l =
U
T+
over 250
with guide
<C
E
T up fto 250

without guide

Dim T | Dim A
730 170
700 200
670 230
640 260 Se
610 290 S
580 320|558
550 350 |8 34
520 380 |5
490 L0 | ®
460 | 440 |
430 170 |2
400 200 & _
370 230 2
340 260 =9
310 | 290 =
280 320 =
250 350
Dim
U0 | T+0 |Dim A
670 | 230
640 | 260
610 | 290 | 8
580 | 320 | S
550 | 350 |5 5
520 | 380 |4 34
< | 490 | 410 |§
- [ee0 [0 B
2 [ 430 | 170 |
400 | 200 |2 _
370 | 230 (2%
340 | 260 =%
30 [ 290 | X
280 | 320 e
250 | 350
Dim T |Dim A
260 | 360 e
210 [ 380 |S 2%
180 | 400 |5 =9
150 | 425 |§ ES
120 | 450 | =
90 [ 170 |4 23
60 | 190 |2 “u
30 | 200 | & 5&
o | 220 | 8%

4 N\
| According fo RAL regulafions Mounting on timber windows
it is obligatory to equip filt according fo drawing
sashes with cafching sfays no. 0-43214-NF-3
along with fan-light fiftings.
On PVC ‘wmdows according
G.U security stays Euro-Solid fo drawing no. 0-43277-NF-3
prevent dammage'fhaT might
occur when opening stays On aluminium windows
are improperly mountfed. according to drawing
no. 0-43278-NF-3
- J
( )
Required order specifications for transmissions
Top edge of sash to parapef ....0-B
Parapet fo end of lever handle ....B-E(nd)
Recess depth.....ooviiiiiiiiiiiie, T
W indow sill projection............. U
N J
4 A
Application range
Max. sash width 24600 mm
Max. tofal sash weight 35 kg
- J
Description
Flatform fan-light opener Ventus F200
various transmission types
Release No. Level Released Scale |Modification Size
(28278 Draft 19.04 .06 Sd Drawing No. Sheet
Replacement for -- 0'43 700'GG'O'EN 2/7




